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Choose the correct sentence.

(1) It is high time he will start earning
(2) It 1s high time he started earning

(3) It 1s high time he starts earning

(4) It 1s high time he has started earning
forforfiga o & == w1 ad gm sy gro 27

(1) 9,2, %

(2) @©,w,d

(3) #,8,d

@ 49,49 %

1[Option ID=1501]
2[Option ID=1502]
3[Option ID=1503]
4[Option ID=1504]

Sl. No.2
QBID:1007002

From among the four options given. choose the correct sequence of the four phrases given

below, to make a meaningful sentence :

(A) I am rediscovering
(B) On the nsing COVID numbers
(C) Nervously, with one eve
(D)  The joy of travel, albeit
(1) (D). (B). (A). (C)
(2) (C). (A). (B). (D)

(3) (B). (C)., (D). (A)




) (A). (D). (C). (B)

ST © Ul EE T s AT 9T e 1Sl e s 8 38 o e 87
(1) deEs

(2) U

(3) =AM

(4) W@ EH

1[Option ID=1505]
2[Option ID=1506]
3[Option ID=1507]
4[Option ID=1508]

Sl. No.3
QBID:1007003

Which of the following 1z a one-word substitute for ‘a soldier who fights for the sake of
money ?

(1) Hireling
(2) DMercenary
(3) Assasin
(4) Hitman
fa=feriad 9 & T wreg =1 Tl 1 o ufads 38 @
(1) ¥
(2) =l
(3) =T

(4) HMHI

1[Option ID=1509]
2[Option ID=1510]
3[Option ID=1511]
4[Option ID=1512]

Sl. No.4
QBID:1007004

Identify the correct form of indirect speech of the following sentence.

The policeman said to us, “Where are vou going?”

(1) The policeman asked us about our destination.

(2) The policeman requested where are you golng.




() The policeman ordered us to go where he wanted.
(4) The policeman enquired where we were going.

a1 U 3evd o faua i S e a1 e, 3H M Fad 8 !
(1) HEAH

(2) faem

(3) @

(4)  faa fagiao

1[Option ID=1513]
2[Option ID=1514]
3[Option ID=1515]
4[Option ID=1516]

Sl. No.5
QBID:1007005

In the sentence below a part 1s italicised. Which of the choices as a replacement will improve
the sentence?

I hate as you can sing so well and I can't.

(1) hate

(2) hate 1t that

(3) hate that

(4) hate 1t

T=feriiaa == =+ 98 9 U ey

A) e sifafea 32 2 s

(B) i eguH ag 1 uieg @

(C) =g =i den w1efi H Ted % =g ger

(D) g fordi &, formd foma afie, faae

(E)  A90d] Jel 0, el e T wee foran

T feu e fawmedl 4 & w8 39 =5 =g4 Fife

(1) (B). (C), (D). (A). (E)

(2)




(D). (C)., (B). (E). (A)
(3) (C) (E) (A (D). (B)

@) (E), (D). (B). (A). (C)

1[Option ID=1517]
2[Option ID=1518]
3[Option ID=1519]
4[Option ID=1520]

Sl. No.6
QBID:1007006

From among the four options given. choose the preposition that will be the best fit for both

the blanks 1n the sentence given below :

When vou bring home a pet. it soon becomes a member —

as devastating as the death ————— any loved one.
(1) off
(2) 1n
(3) of
(4) with

Frerferfiaa & @ vy a1 faffea Hifse -

(1) % |1 TH T8 e L EH| 2
(2) e = 94 ved | 98 e

(3) Taam 9@ = 32ET % wgk T A |
(4) WEA F1 faue %a 3|

1[Option ID=1521]
2[Option ID=1522]
3[Option ID=1523]
4[Option ID=1524]

the famly and its loss 1s

Sl. No.7
QBID:1007007




Mateh List I with List IT

List I List IT
(word) (inked word)
(A) letters (Il time
(B) papers (IT) printed
(C) cards (III) friends
(D) clock (TV) basket

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(I). (C)-(IV), (D)-(III)
(2) (A)-(IV). (B)-(II), (C)-(I), (D)-(I11)
(3) (A)-(III), (B)-(IV). (C)-(II). (D)-(I)
(4) (A)-IV). (B)-(IID). (C)-(D). (D)-(IL)
1 YA Eed1 FH FTell Bl o ToTu U 9168 F150
(1) =
(2)  STeHET
(3) ¥
(4) Frd

1[Option ID=1525]
2[Option ID=1526]
3[Option ID=1527]
4[Option ID=1528]

Sl. No.8
QBID:1007008

Choose the correctly spelt word.
(1) Wharewhithal
(2) Wherewithal
(3) Wherewital
(4) Where whital

=14 |l ¥Is4 "3l 1 qaiarE 51 27
(1) TE=%

(2) #HM




3 uf
(4) w4

1[Option ID=1529]
2[Option ID=1530]
3[Option ID=1531]
4[Option ID=1532]

Sl. No.9
QBID:1007009

Choose the correct option to make a meaningful sentence.

The paragraph should not ———— five hundred words.

(1) Accede

(2) Exceed
(3) Access

(4) Excess

el I | g 111 faers fifso
-1 HHI-11
(A) ¥ (I) 9r=4
(B) faem (I)  STATE0]
(C) YrRETH (IIT) 34
(D) i3 (Iv) e

4= fau o faereal 4 3 w2l 3w =1 =24 il

(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(2)  (A)-(II). (B)-(IV). (C)-(D), (D)-(I1I)
(3) (A)-(III), (B)-(ID). (C)-(IV), (D)-(I)

@) (A)-(IV). (B)-(III). (C)-(I). (D)-(1I)

1[Option ID=1533]
2[Option ID=1534]
3[Option ID=1535]
4[Option ID=1536]

Sl. No.10
QBID:1007010




Choose the correct passive volce form of the following sentence :

People are destroving large areas of forest every day.

(1) Large areas of forest was being destroved every day.
(2) A large areas of forests were destroved everv day by the people.
(3) Large areas of forest are being destroyed every day.

(4) Every day people have destroyed large areas of forest.
faferfiga & & geTa T -
A) T g e
(B)  AT@maiE, 4 s aigh
(C) Gkl —=l==h] 18 =11
(D) i aet sl faasn
(E) il Irferat s =4 diefi

i Tau o faereai © & wdl 3w %1 =5 fifs
(1) (A). (C) 31T (D)
(2) (A). (B) 31 (E)
(3) (B), (C) 31T (D)
(4) (C). (D) 3 (E)

1[Option ID=1537]
2[Option ID=1538]
3[Option ID=1539]
4[Option ID=1540]

Sl. No.11
QBID:1007011

Former Indian ecricket captain Gundappa Ranganatha Vishwanath has penned his
autoblography titled —————, co-authored by zenior journalist R Kaushik.

(1) Playing It My Way
(2) The Test of My Life

(3) Wrist Assured : An Autobiography




) 981 and Bevond

gd awedtd e FeE e Oy favaay 3 decigs aftd uEEn SR FIvE % /e Sl e
wfiden & foref

(1) g HE A

(2) @ 1% HIE AIgs

(3) Trezuedid ; ua siEEmE
(4) 281 Ug fode

1[Option ID=1541]
2[Option ID=1542]
3[Option ID=1543]
4[Option ID=1544]

Sl. No.12
QBID:1007012

Who has been elected as the new President of South Korea to replace incumbent President
Moon Jae-in?

(1) Lee Jae-mung
(2) Ban ki-Moon
(3) Hong Joon-pyo
(4) Yoon Suk-veol
e T2l e 91-39 o £4H W gfaror i s F91eeafd B g=
(1) @S-
(2) =14 Fl-44
(3) 2 Eg -7
(4) IH gF-TasE

1[Option ID=1545]
2[Option ID=1546]
3[Option ID=1547]
4[Option ID=1548]

Sl. No.13
QBID:1007013

Who has become the first engineer to become the chief of army staff?

(1) Lieutenant General Mano] Pande

(2) Lieutenant General B.S. Raju




(3) Lieutenant General Manoj Mukund Narvane

(4) Commander-in-chief Upendra Dwived:
9 Teell Ssfif-t 19 & 9l Yeraneae) 9917

(1) cIffee SHTe B 9Ue

(2) elfpe=e st ol vE. T

(3) itz sive weis gape Jral

(4) e & =i 302 fGad

1[Option ID=1549]
2[Option ID=1550]
3[Option ID=1551]
4[Option ID=1552]

Sl. No.14
QBID:1007014

Who has won the 2022 Laureus Breakthrough of the Year prize?
(1) Valtentino Rosai
(2) Emma Raducanu
(3) Tom Brady
(4) Neeraj Chopra
eATTeE sl 31 @ $31 grEeTt 2022 fha sfien?
(1) a2 T
(2) UHEITEHA
(3) @ueEl
(4) v =Eme

1[Option ID=1553]
2[Option ID=1554]
3[Option ID=1555]
4[Option ID=1556]

Sl. No.15
QBID:1007015

Which of the following has launched the world's first index family focused exclusively on
tracking the price of carbon removal?

(1) NIFTY




(2) SENSEX

(3) NASDAQ
(4) NABARD

Frefetfigd € & e #1eH 99394 * 5ed 1 91 eTH o o fovm &0 4 aian #f=d fava % guw =
Y fra?

(1) e
(2) #HHFH
(3) e
(4) ArarE

1[Option ID=1557]
2[Option ID=1558]
3[Option ID=1559]
4[Option ID=1560]

Sl. No.16
QBID:1007016

Find the next number

19, 31.45.61, __
(1) 31
(2) 79
(3) 90
(4) 84

Ferferfia speren © sprell dem sy

19, 31, 45, 61,
(1) 81
(2) 79
(3) 90
(4) 54

1[Option ID=1561]
2[Option ID=1562]
3[Option ID=1563]
4[Option ID=1564]

Sl. No.17




QBID:1007017
If MONEKEY 1= coded as OPNZFL, How will PIGEON he coded?

(1) EREIGQP
(2) HJIQFPM
(3) GJOPFR

(4) REKIPQG

7fg MONKEY #1 OPNZFL # 9 # Fizag {21 911 2, @1 PIGEON % %4 #asg =g strom?

(1) RKIGQP
(2) HJIQFPM
(3) GJOPFR
(4) RKIPQG

1[Option ID=1565]
2[Option ID=1566]
3[Option ID=1567]
4[Option ID=1568]

Sl. No.18
QBID:1007018

Choose the pair the best represents a similar relationship to the one expressed in the original
pair of words.

Cobbler : Shoe

(1) Carpenter : Wood

(2) Mason : Brick

(3) Contractor : Building

(4) Potter : Mud

T forfiaa wreai = et 7w o =afsrd da9 £ guEa #1 5aia0 59 8 g qd 4 g 30 F 9H

(1) 38 : T
(2) fow 4

(3) S%ar : ¥ad

(4) FEW: ﬁ:‘@




1[Option ID=1569]
2[Option ID=1570]
3[Option ID=1571]
4[Option ID=1572]

Sl. No.19
QBID:1007019

Sham left his home and walked 12 km towards South - East. Then he turned right and
walked another 8 Km. Again he turned right and ran for 15 Km. Then he turned 45° in
clockwise direction and continued walking. In which direction he 1s walking now with respect
to starting point.

(1) DNorth-East
(2) North
(3) South

(4) North-West

AT A9 B H e i afem-ud feen 8 12 fodl =en) i g aifed g2 sii 8 fohdl, i =) ag
affed g2t i 15 Tl ok dren e 3z ol & ser & faon 8§ 45° gu =R =emn s v o6 92 wwaE B
&1 der1 4 fore faen | =e w1 27

(1) I-ud
(2) X

(3) &l

(4) FH-TTEH

1[Option ID=1573]
2[Option ID=1574]
3[Option ID=1575]
4[Option ID=1576]

Sl. No.20
QBID:1007020

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s
the only daughter of my brother. How 1s woman related to Ram?

(1) Aunt

(2) Mother
(3) Wife

(4) Grand mother




Ty H 3397 Fel T 3ae amd o aigen 9 @ 3aehl v ol @, S w0t arg ) geelte |8 21 a1 38 ulEen #
T F1 Ha Y 27

(1) ==

(2) =i

(3) udl

(4) =E

1[Option ID=1577]
2[Option ID=1578]
3[Option ID=1579]
4[Option ID=1580]

Sl. No.21
QBID:1007021

A family consists of a mother. a father, and some children. The average age of the members of
the family 1s 20, the father 1s 48 years old. and the average age of the mother and children 1s
16. How many children are in the family?

(1 8
2) 7
3) 9
(4) 6

e uiET O U u, vk a1 SR e a6 uiEn & |l wEe 1 iea 31 20 2, foan o sy 48 9 2 s
i qet =] il 3iEd 91 16 34 21 afEm 4 fhdd a7

(1) 8
@2 7
3 9
(4) 6

1[Option ID=1581]
2[Option ID=1582]
3[Option ID=1583]
4[Option ID=1584]

Sl. No.22
QBID:1007022

What iz the value of K . for which one root of the quadratic equation Kx” —14x +8=0 is six
times the other?

1) 1




(2) 9
3) 3
(4) 4

afg fanda afiey) Kx® —14x+8=0 1 UF U g6 8§ 3: A 2 dl K %19 31 87

(1) 1
(2) 2
(3 3
(4) =

1[Option ID=1585]
2[Option ID=1586]
3[Option ID=1587]
4[Option ID=1588]

Sl. No.23
QBID:1007023

A dealer sold a bicycle at a profit of 10%. Had he bought the bicycle at 10% less price and sold
it at a price ¥ 60 more, he would have gained 25%. The cost price of the bicycle was :

(1) 2,600
(2) T 2.000
(3) ¥ 2.200
(4) ¥ 2,400

U Eie A U AEfHA 10% ey W =] 3fs 397 Al 10% +9 geg 4 @i 26l 3t 38 T 60 A sl
e 9L sf=el, d1 39 25% %1 &9 21| J5fFe 1 wa-geg fae o -

1) ¥ 2,600
(2) E 2000
3) %2,200
@) 2,400

1[Option ID=1589]
2[Option ID=1590]
3[Option ID=1591]
4[Option ID=1592]

Sl. No.24
QBID:1007024




In a business, ‘B’ 1s a sleeping partner and * A’ 1s a working partner. ‘4" invests ¥ 5,000 and
"B’ mvests ¥ 6,000. 'A’ receives 12%% of profit for managing the business and the

remaining profit 1s divided in proportion to their capitals. A's share of profit in a total profit
of T80 18 :

(1) 350
(2) 400
(3) %420
(4) 460
U =gagE ° B v faftry afien 2 3 A v wEie aefEn 210 A 5,000 F1 FEw @ i

"B’ ¥ 6,000 1 FE9 01 2| sH9™ F1 UE G906 F 90 A F AT 12%% oTH Bl & ST 99 @1y

I Gl o ST § @iz faan sren 2 =i et ey T 880 2ol A w8 e fam g -

(1) ¥350
(2) T 400
3) Y420
4) T 460

1[Option ID=1593]
2[Option ID=1594]
3[Option ID=1595]
4[Option ID=1596]

Sl. No.25
QBID:1007025

A train 800 metres long 1 running at a speed of 78 Km per hour. If it crosses a tunnel in
1 minute, then the length of the tunnel (in metres) 1s :

(1) 130
(2) 360
(3) 500
(4) 540

800 Wit el ush o 78 fo 1. feren o =t & =ret well 21 afe e Fodl g = ue fae | o] @ 91 g
T (wier W) TR 27

1) 130




(2) 360

(3) 500

(4) 540

1[Option ID=1597]
2[Option ID=1598]
3[Option ID=1599]
4[Option ID=1600]

Sl. No.26
QBID:1041001

Which of the following i1s the first limb of Gheranda Samhita?
(1) Shatkarma
(2) Asana

(3) Pranayama

(4) Bandha

S HlEdr &1 YUY 31999 HEenad § o FiF o1 27
(1) 9wy

(2) HEA

(3) WY

(4) =9

1[Option ID=301]
2[Option ID=302]
3[Option ID=303]
4[Option ID=304]

Sl. No.27
QBID:1041002

The concluding portion of Upanishads and essence of the Vedas are called
(1) Sankhya

(2) Vedanta

(3) Nvava

(4) Vaisesika

sufwal =1 faeqred 3791 vd 921 %1 |1 @1 FEdrdl 27

(1) HReA

(2) e

(3) =4




B Fsrfu

1[Option ID=305]
2[Option ID=306]
3[Option ID=307]
4[Option ID=308]

Sl. No.28
QBID:1041003

Which of the following Asana (Yoga posture) removes fatigue and offers relaxation to the
mind?
(1) Simhasana

(2) Gomukhasana

(3) Koormasana

(4) Shavasana

frfctfiad 4 | ®FH |1 ATEA UHE F1 @ FAl 2 v gl 6 et vgm & 27
(1) FEEA

(2) AHEHA

(3) HHiEA

(4) TETHA

1[Option ID=309]
2[Option ID=310]
3[Option ID=311]
4[Option ID=312]

Sl. No.29
QBID:1041004

The word ‘Hatha' in Yoga 1s the combination of two syllables, where 1n ‘Ha’ 1s associated with
‘prana’, and ‘tha’ 1s with

(1) Life

(2) Wisdom

(3) Mind

(4) Body

I 4 73’ € Wegl 1 HATOH B, WA B UM W Hafud 2 9w @ Fefafea O 6 fead geafaa 20
(1) SfieH

(2) H

(3) ufeqes
(4) 9




1[Option ID=313]
2[Option ID=314]
3[Option ID=315]
4[Option ID=316]

Sl. No.30
QBID:1041005

Which of these 1s a definition of “Yoga® as per Patanjali Yoga Darshan?
(1) Yogaschitta-Vritti-Nirodhah

(2) Samatvam Yoga Uchyate

(3) Vypavate anena 1t1 voga

(4) Yuja Samadhau

qerafe] JNTEEH & HTHE S9H H FAT ol aiem e = 2

(1) aAmfrETgh e

(2) H4ed 9P =4

(3) fasd 3r=[ 3fd =

(4) T4 wH1Hl

1[Option ID=317]
2[Option ID=318]
3[Option ID=319]
4[Option ID=320]

Sl. No.31
QBID:1041006

Fill in the blanks :
comes from the practice of Santosha (contentment) according to Patanjali
(1) Unexcelled happiness
(2) Forced happiness
(3) Obligatorv happiness
(4) None of these

frek zarr &t gfd =6

qddAfel & HTHR, HA™ & HT=H0 H AT 2
(1) YA 4

(2) eTid Hd

(3) @reEE HE

(4) =98 H &I 480




1[Option ID=321]
2[Option ID=322]
3[Option ID=323]
4[Option ID=324]

Sl. No.32
QBID:1041007

Which of the following sentence indicates the literal meaning of ‘Tasya Vachakah Pranavah'
(1) Aum 1s omnipotent and omniscient

(2) Aum is all pervading

(3) Aum 1s eternal

(4) Aum 1s the word denoting God

fafefiga O | wi=en 999 a5 g W & sifece 3 ol Hahd widl 2 7

(1) = TEwFaE T o97 2

(2) = HI=AT 2

(3) = Tvad ®

(4) 5 g 1 ATC9d YA W 2

1[Option ID=325]
2[Option ID=326]
3[Option ID=327]
4[Option ID=328]

Sl. No.33
QBID:1041008

In which of the following practice of Yoga, there 1s involvement of cessation of the movement
of inhalation and exhalation

(1) Asana

(2) Pranayama

(3) Kriyva

(4) Pratyahara

faefefiga farm g § 3749989 vd I=gga 6t fd § faem wnfus g 27
(1) 3HMHA

(2) WM™

(3) fermm

(4) YUAER

1[Option ID=329]
2[Option ID=330]




3[Option ID=331]
4[Option ID=332]

Sl. No.34
QBID:1041009

Which of these 1s a combination of “Pranamaya. Manomava and Vijnanamayva kosas?
(1) Sthula Sareera

(2) Sukshma Sareera

(3) Karana Sareera

(4) None of these

g, g4y 31 fasmaga & fefofeaa O 9 et ve wgeE 2

Sl SR

(2) H&q wrin

(3) =MV IR

(4) TUIE H H I3 T8

1[Option ID=333]
2[Option ID=334]
3[Option ID=335]
4[Option ID=336]

Sl. No.35
QBID:1041010

In order to stop “Vrittis', the two methods adopted are "Abhyasa (repeated practice) and
(1) Vidya

(2) Vikalpa

(3) Vawragya

(4) Viveka

sl

et % s 3 50w i yem 1 @ faf sve 3
(1) fern

(2) feaehey

(3) g

(4) faae

1[Option ID=337]
2[Option ID=338]
3[Option ID=339]
4[Option ID=340]

Sl. No.36
QBID:1041011




Which of the option given below 1s a ‘Pathya ahara'?
(1) Patola

(2) Hing

(3) Salt

(4) ERKulathee

Hr= fed 1 faeg O | Uz HEW HH H 27
(1) w2 (TE)

(2) #i

(3) ey

(4) FAl

1[Option ID=341]
2[Option ID=342]
3[Option ID=343]
4[Option ID=344]

Sl. No.37
QBID:1041012

The purpose of yoga teaching 1s mainly to induce

(1) Change in the environment

(2) Change in the subject

(3) Change in the student

(4) Change 1n the teacher

1 foremn =1 3¢eva gerd: frefafad 1 sfadiE = 2
(1) ardrE | gigdq

(2) fawy 4 ufradq

(3) fernedi ° ufradA

(4) forerer § afEdA

1[Option ID=345]
2[Option ID=346]
3[Option ID=347]
4[Option ID=348]

Sl. No.38
QBID:1041013

For a small yoga class, best sitting arrangement of the students may be
(1) Circular form

(2)




Straight row
(3) Semi circle form
(4) Double circle form
T AT FeA £ T F a4 Fi HATE STEee 70 5 aEdl 27
(1) FATHN ¥ 4
(2) #iei g o
(3) 4 ad €9 4
(4) @IE gd &9 4

1[Option ID=349]
2[Option ID=350]
3[Option ID=351]
4[Option ID=352]

Sl. No.39
QBID:1041014

Which of the option given below 1s supposed to be the first limb of ‘Saptanga Yoga'?
(1) Asana
(2) Shatkarma

(3) Pratyvahara

(4) Pranavama

H= Ted 1 fae O | 69 | G 1 999 S{99d 9HE1 A1 JhdT 27
(1) HMHA

(2) HZFHH

(3) HYHlEN

(4) WTUTTETH

1[Option ID=353]
2[Option ID=354]
3[Option ID=355]
4[Option ID=356]

Sl. No.40
QBID:1041015

By performing which of the following Ashta-kumbhaka. one can float hike a lotus leaf on

water?

(1) Suryabhedi
(2) Nadishodhana

(3) Bhastrika




(4) Plavini

frAfefiaa 4 & g sredus & forme gm +18 =afd e W w9a 6 9fagi F o W awa 27
(1) HAY]

(2) HrErsneEA

(3) wrfar

(4) weArfei

1[Option ID=357]
2[Option ID=358]
3[Option ID=359]
4[Option ID=360]

Sl. No.41
QBID:1041016

Which of the following ‘Asana’ resembles a ‘“Tortolse’

(1) Paschimottanasana
(2) Padmasana

(3) Koormasana

(4) Kukutasana

fr=fafiga © | & @ e FEw & G99 A 27
(1) ufFadEEEA

(2) HeHMEH

(3) FHiEH

(4) FFTEA

1[Option ID=361]
2[Option ID=362]
3[Option ID=363]
4[Option ID=364]

Sl. No.42
QBID:1041017

‘Trataka’ is a cleansing technique meant for which organ?
(1) Nose

(2) Mouth

(3) Eye

(4) Ear

FAreeh U gRETed fafa 2, gae dey fea sm g 27

1)




ATt
(2) Hd
(3) =&
(4) Fi
1[Option ID=365]
2[Option ID=366]

3[Option ID=367]
4[Option ID=368]

Sl. No.43
QBID:1041018

Srinivasayogl 1s the author of which of the following voga texts?
(1) Goraksha samhita

(2) Gheranda Samhita

(3) Shiva Samhita

(4) Hatharatnavali

oft Trara =nfl frsfefiga arme O 9 feos omas &7

(1) TRE iz

(2) =¥ Higdl

(3) fora Hfza

(4) E3 Tl

1[Option ID=369]
2[Option ID=370]
3[Option ID=371]
4[Option ID=372]

Sl. No.44
QBID:1041019

Repitation of ‘Bija’ mantra is involved in which Kumbhaka?
(1) Sahita kumbhaka

(2) Sagarbha kumbhaka

(3) Nigarbha kumbhaka

(4) Kerala kumbhaka

o w3 ol Tl fen fus 1 afifaa 22
(1) Hf#d F9
(2) =14 FuH

(3) e T9F




(4) Fae T

1[Option ID=373]
2[Option ID=374]
3[Option ID=375]
4[Option ID=376]

Sl. No.45
QBID:1041020

As per Patanjal Yoga Darshan. Kleshas can be reduced by
(1) Pratvahara

(2) Dharana

(3) Dhyana

(4) None of these

IS T 53 FTEN, FAT ATAEGd gRT FH B E
(1) HFER

(2) ST

(3) =M

(4) ZH H 15 A7

1[Option ID=377]
2[Option ID=378]
3[Option ID=379]
4[Option ID=380]

Sl. No.46
QBID:1041021

Which chapter of the Shrimad Bhagwat Gita 1s popularly known as ‘Bhaktiyvoga™
(1) 10™ Chapter

(2) 12% Chapter

(3) 14™ Chapter

(4) 16™ Chapter

sfte wragiiar & fapm searg &1 wfwdnr & 9w # S S 2 e

(1) 104

(2) 124

(3) 144

(4) 164

1[Option ID=381]
2[Option ID=382]




3[Option ID=383]
4[Option ID=384]

Sl. No.47
QBID:1041022

Initial six chapters of the Bhagwat Geeta deals with
(1) Karma Yoga

(2) Bhakti Yoga

(3) Gvan Yoga

(4) Raj Yoga

Wil & wym @ ey e 0 g feog grafee 80
(1) M

(2) wfFam

(3) ST

(4) TTAIM

1[Option ID=385]
2[Option ID=386]
3[Option ID=387]
4[Option ID=388]

Sl. No.48
QBID:1041023

Which of the following has been nomenclated as Mahavrata™
(1) Yama

(2) Niyama

(3) Ishwarpramdhaan

(4) Brahmcharya (Celibacy)

frafefiaa o o foeg werga F o & g 22

(1) 44

(2) f4zm

(3) Evarufurar

(4) war=d

1[Option ID=389]
2[Option ID=390]
3[Option ID=391]
4[Option ID=392]

Sl. No.49
QBID:1041024

Which of the following doesn’t form the part of Bahirang yoga?




(1) Dharana

(2) Niyam

(3) Pranavam

(4) Pratyahar

et | 4 sa faemen afem =m &1 30 98 27
(1) EFEn

(2) fHam

(3) HT97TETH

(4) UER

1[Option ID=393]
2[Option ID=394]
3[Option ID=395]
4[Option ID=396]

Sl. No.50
QBID:1041025

In Astaang Yoga. in which pada do we find description of ‘Pratyaahar’ anga?
(1) Samaadhi pad

(2) Sadhan pad

(3) Kaivalya pad

(4) Vibhuti pad

HE A0 § USAER 3 F G0 R UE T T 2

(1) =EIg 95

(2) =mgd Ug

(3) Faa T

(4) fagfa @

1[Option ID=397]
2[Option ID=398]
3[Option ID=399]
4[Option ID=400]

Sl. No.51
QBID:1041026

Which of the following meaning of the term ‘Drishya’ 1s accepted
(1) Prakriti

(2) Purush
(3) Buddha




(4) Pram

Fetfetfign faredi § & goa° wreg o1 @1 3 wefiapm w27
(1) i

(2) 1M

(3) dfg

(4) TOI

1[Option ID=401]
2[Option ID=402]
3[Option ID=403]
4[Option ID=404]

Sl. No.52
QBID:1041027

Concluding line “Tasva Vachakah Pranavah” fisures in which of the following texts :

(1) Gherand samhita
(2) Samkhya darshana

(3) Yoga darshana

(4) Hatha ratnavali

“qEq dr=eh: Yuid: 2fd 3 dfeh & wraey fee o § 27
(1) =rve =i

(2) =i @i

(3) AW 29

(4) FEEE

1[Option ID=405]
2[Option ID=406]
3[Option ID=407]
4[Option ID=408]

Sl. No.53
QBID:1041028

According to the Shr1 Bhagvatgeeta which of the following categories of purushas loves to
consume food meant for enriching intellect, powers. well-being and affection

(1) Sattvik purusha
(2) Rajasik purusha
(3) Tamasik purusha
(4) All of the above

offrg, Wrraeiian & WA A, 9fe, 96, A 3 fifd F1 age gen uree e gy 5 fia 2o




(1) Hiferes gy
(2) rHAfHE TEy
(3) Amfas Ty
(4) 7w 54

1[Option ID=409]
2[Option ID=410]
3[Option ID=411]
4[Option ID=412]

Sl. No.54
QBID:1041029

Practice of Samyam at which of the following locations leads to the knowledge of the
movement of stars

(1) at the centre of the sun
(2) at the centre of the pole
(3) at the centre of the moon
(4) 1s koorma naadi
ferm T fas W Hag & @ ar 6 1fd H1 TE 8 S 27
(1) g4 &= 1
(2) yd &34
(3) =2 %= 4
(4) FA AR

1[Option ID=413]
2[Option ID=414]
3[Option ID=415]
4[Option ID=416]

Sl. No.55
QBID:1041030

Which of the following bandhas 12 executed 1n Moorchha Kumbhak™
(1) Mool bandha

(2) Uddiyaan bandha

(3) dJalandhar bandha

(4) All of the above

W] FEAE U FIH] - R A R 7

(1) HefsH

(2)




IZETH T
(3) A4 &4
(4) 394 H+i

1[Option ID=417]
2[Option ID=418]
3[Option ID=419]
4[Option ID=420]

Sl. No.56
QBID:1041031

Which of the following Kumbhakas can be practised both while on the move and even while
staying put without making any movement?

(1) Ujjaayi
(2) Suryabhedan
(3) Seetkan

(4) Sheetali

feret e 1 =erd-fierd, feur @d 7o fopan = wehan 27
(1) F=El

(2) HAHeH

(3) HidwHl

(4) fiered

1[Option ID=421]
2[Option ID=422]
3[Option ID=423]
4[Option ID=424]

Sl. No.57
QBID:1041032

As per “Hatha Yoga Pradipika”™ which of the following 1s the correct order of the four great
aasanas?

(1) Siddhasana. Padmasana. Simhasana and Bhadrasana
(2) Siddhasana. Bhadrasana. Simhasana and Padmasana
(3) Padmasana. Siddhasana, Simhasana and Bhadrasana
(4) Siddhasana. Padmasana. Bhadrazana and Simhasana
BSAT AR - o SHE =N 28 3EEl 1 FH B2

(1) THgEA, F=TEA, EERA 3R HEEA|

(2) Tagrm, wgrE, faema 3 g

G) e, fagrad, faame s gz




(4) Tz, 92meH, geEE 3 e

1[Option ID=425]
2[Option ID=426]
3[Option ID=427]
4[Option ID=428]

Sl. No.58
QBID:1041033

As per Hatha Pradeepika. the characteristics of Sadhak's kuti's for the practice of hathavoga
figures in which of the following preachings (updeshas)

(1) 01
(2) 02
(3) 03
(4) 04
g Wit % HEN g4 & ety & foe wus ) feai w1 aeo fea guew § fwmn mn 27

(1) 01
(2) 02
(3) 03
(4) 04

1[Option ID=429]
2[Option ID=430]
3[Option ID=431]
4[Option ID=432]

Sl. No.59
QBID:1041034

As per Gherand Samhita, a Saadhak 1s supposed to undertake which of the following
Abhyasa prior to undertaking the Abhyvasa of Pranayvam?

(1) Nadishodhan

(2) Dharna

(3) Dhyan

(4) None of these

HTug Afgdl & IFTHR TV F1 FEAHE HH H TEe H19E 6l THEh M HE =91 v
(1) Ardl 9

(2) =

(3) =4H

(4) =90 | =18 44

1[Option ID=433]




2[Option ID=434]
3[Option ID=435]
4[Option ID=436]

Sl. No.60
QBID:1041035

In which of the following styles has Gherand Samhita been scripted
(1) Preach style (Updesh shaili)

(2) Lecture style (Vyakhyan shaili)

(3) Formula style (Sutra shaili)

(4) Comments

Hug giean &1 T Stef § foran w27

(1) 39¢9 9redl

(2) ST el

(3) Ha el

(4) ikl 4

1[Option ID=437]
2[Option ID=438]
3[Option ID=439]
4[Option ID=440]

Sl. No.61
QBID:1041036

In which Upadesha of Gherand Samhita do we find mention of Pranayam?
(1) 06

(2) 05

(3) 04

(4) 03

Hrve Higdl & fea 399 § womam 1 guie e m 27

(1) 06

(2) 05

(3) 04

4) 03

1[Option ID=441]
2[Option ID=442]
3[Option ID=443]
4[Option ID=444]

Sl. No.62
QBID:1041037




What are the advantages of Trataka?
(1) Divya drishti

(2) Shambhavi mudra

(3) Cure of eve-defects

(4) All of the above

A &+ &G AH B A7

(1) fe=a gfe

(2) ImegE] gz

(3) 94 2l &1 f4am

(4) 35w a4

1[Option ID=445]
2[Option ID=446]
3[Option ID=447]
4[Option ID=448]

Sl. No.63
QBID:1041038

According to Hatha Yoga Pradeepika which of the following should be reined in by making
efforts

(1) Body

(2) Manas

(3) Chitta

(4) Pranvayu

BN TSIl 77 &% 9N TTeTqds fhast = s =nfau 7
(1) 9

(2) 44

(3) f=a

(4) 9rETy

1[Option ID=449]
2[Option ID=450]
3[Option ID=451]
4[Option ID=452]

Sl. No.64
QBID:1041039

From amongst six philosophies (Shaddarshanas) which of the followings in the smallest and
the most feasible one

(1) Poorva Meemansa




(2) Yoga darshana
(3) Nyaya darshana

(4) Samkhva darshana

yeerHi H HeH Biel Ud sudaiie v HiHE1 27
(1) &

(2) =AFEIH

(3) —MHEsH

(4) HiE ¢viH

1[Option ID=453]
2[Option ID=454]
3[Option ID=455]
4[Option ID=456]

Sl. No.65
QBID:1041040

In which chapter of the Shrimad Bhagawad Geeta we find the line ‘Samatvam Yoga Uchvate’
Ita?

(1) First Chapter

(2) Second Chapter

(3) Fifth Chapter

(4) Eighth Chapter

“qHe 40 I=Ad” 3 a2 dfe i % fem sveara | weafem 20
(1) u¥H

(2) gy

(3) 494

(4) 32

1[Option ID=457]
2[Option ID=458]
3[Option ID=459]
4[Option ID=460]

Sl. No.66
QBID:1041041

Which of the following 1s not a type of Yama?
(1) Ahimsa

(2) Aasteyva

(3) Swaadhyay

(4)




Aparigrah
= 0 | F v 79 %1 9E 20
(1) HfzHT
(2) 3
(3) =AM
(4) HAIHE

1[Option ID=461]
2[Option ID=462]
3[Option ID=463]
4[Option ID=464]

Sl. No.67
QBID:1041042

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R).

Assertion (A):  In Hathayoga Pradipika, there is mention of Nadishodhana Pranayama.

Reason (R) : Nadishadhana Pranayama is not-practice given in Astakumbhaka. because
of Kumbhaka 1s not a Mandatory component of this pranayama.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

9 g % feu o ¥ ;v fuse (Assertion (A)) % ¥4 U fafiga 2 i HT 3% FM (Reason
(R) ¥4 4 ;

HiqFH (A) : ESAM Yaigerl T ATEISTEA VETH 1 3gd I F41 2|

%1 (R) AEMGA goTEm CHEHraE 4 fom e s JE 2 iR F9E I8 amEm F

I9IE &Y % aATere 4, fi fou o fawedi O @ wen Iy I #1095 Fif

(1) (A) 31 R) 5 76 7 37 R), (A) F w8 sqven 2

(2) (A) 371 (R) €M1 981 2, eifea (R), (A) 61 | sqren 48 2
(3) (A) &9 2, dfF R) T8l 4E 2

(4) (A) @@ 4 2, dfea R) 581 2




1[Option ID=465]
2[Option ID=466]
3[Option ID=467]
4[Option ID=468]

Sl. No.68
QBID:1041043

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R).

Assertion (A):  The demonstration method has a high educational and motivational value
in Yoga programmes.
Reason (R) : It upholds the principles of “Seeing 1s believing” and “learning by doing”

and 1t 1s a mixture of theoretical and practical teaching.

In the light of the above statements, choose the most appropriate answer from the options

o1ven below :
(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

H9 €1 @¥q fqu v @ v HfWEUd (Assertion (A) % ®9 H feifigd 2 1 ¢8O IHF &Y (Reason
(R)) &% ®9 1 :

wfirred (A) I wrdedl O vesiq fafy o1 3= st va st gy 2)
FI (R) : ‘A €@ T2 8 39U favam = 2 7 98 T gm oy & fagm o gude & 2

a1 ¥z Hgifas v sAaaTid e &1 o 2

I HYH ok 3Telien H, T fou e fawedi § | wed vy I o 994 difae

(1) (A) 31 (R) GHI 78 2 3R R), (A) F1 5 =awen 2

(2) (A) 37 (R) 21 741 2, #fea (R), (A) H1 | sgre 44 2
(3) (A) @é 7, wfF (R) ¥l 741 2

(4) (&) =&l =@ 2, eAfed R) 58 2

1[Option ID=469]
2[Option ID=470]
3[Option ID=471]
4[Option ID=472]

Sl. No.69
QBID:1041044




Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).
Assertion (A): In Yoga Darshana Chitta Vikshepakas have been held to be detrimental to
yogic practices (Yoga sadhana)

Reason (R) : Vyadhi, Styaan, Samshaya. Pramaad and Aalasya etc. cause hindrance to
meditation by deviating chittas.

In the light of the above statements, choose the most appropriate answer from the options
given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

4 @ ®ya fqu U & ;v ATUEHY (Assertion (A)) & 9 H fﬁﬁﬁﬁ%z’ﬁ@l’l 34 &MY (Reason
(R)) & =9 1 :

wfirared (A) giree 4 faa Tl =1 Fm we 9 e g T 2)

& (R) : Y, TAE, YA, YHE 3N A geife fae # Wed o weAl ° =1 394

F1d 2|

I e % el o, F9 fu o fawedi § & gad gwe 3 w0 = fifsu

(1) (A) 3 R) GH 76 2 31 (R), (A) F1 w8 sqve 2

(2) (A) 31 (R) €1 w2 2, vifeha R), (A) F1 w4 sqre =48 2
(3) (A) |4l 2, oifFd (R) 921 7 2

(4) (A) #& & 2, dAfea (R) =5 2

1[Option ID=473]
2[Option ID=474]
3[Option ID=475]
4[Option ID=476]

Sl. No.70
QBID:1041045




Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).
Assertion (A) : Dharana. Dhyana and Samaadhi are known by the name of Samyam.
Reason (R) : It 1= only after the saadhana of Antaranga Yoga that a Sadhak can attain

the stage of perfection.
In the light of the above statements. choose the most appropriate answer from the options
given below :
(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

= 8w fou o 2 . ues srfusen (Assertion(ﬁ}}ﬁi@ﬁﬁﬁﬁﬁ%?ﬁ@ﬂmml (Reason
(R)) % &9 1 :

i (A) - YEVI, € 3R JHIY &l H99 & 9™ & FH= A9 2

FM (R) : A AR H] HG o I HHE 1 Sl UTH L Hehdl 2|

I9Ih YA < ITeilsh O, = fau o fawedi 4 4 el 39w I 1 =959 Hifau

(1) (&) 3R (R) <Hi #8 # 31 R), (A) 6l @ sure 2

(2) (A) 3 (R) I #El &, dfF R), (A) I TF1 =Ire 46 2
(3) (A) & 2, wifr R) wel 481 2

(4) (A) =4 7 2, Afed R) @l 2

1[Option ID=477]
2[Option ID=478]
3[Option ID=479]
4[Option ID=480]

Sl. No.71
QBID:1041046




Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A):  First of all. aakash tatva got originated from the Supreme soul Parmatma
subsequently. Vayu. Agni. Jal and Prithvi tatva got originated from
Aakash., Vayu. Agni and Jal respectively.

Reasons (R) : The well being of Panchkoshas viz Annamay Kosha. Pranmaya Kosha.
Manomaykozha, Viynanmavakosha and Anandmay Kosha depends on
Panchmahabhootas

In the light of the above statements. choose the most appropriate answer from the options
given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

4= 21 %o feu 0 # U 3UFHYA (Assertion (A)) & =9 H fofigd 2 4 o 34 HMU (Reasons
(R)) & 9§ :

iR (A): WO H HUYY TS dw Uehd E31; dcqveEld ST H a1y, ag | iy, s o
Sl 3R Sl @ gt qe 3o g
&1 T JEardl T A w5 2)

I YA % Aol 4, 9 fou o famedi 4 | HeH I0geE I %1 951 Hifan

(1) (A) 31 R) g 7 # 30 R), (&) F w8 savEen 2

(2) (A) 3 ®) 1 &8 2, afdd R), (A) i 681 sare 48 2
(3) (A) &7 2, difd (R) #l 471 2

(4) (A) @@ 4 2, dfe R) 581 2

1[Option ID=481]
2[Option ID=482]
3[Option ID=483]
4[Option ID=484]

Sl. No.72
QBID:1041047




Given below are two statements : One 1= labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  Placing right ankle next to left buttock and left ankle next to the right is
the procedure of performing "Gomukhasana’

Reasons (R) : This particular posture 1s called ‘Gomukhasana’. because it rezembles the

face of a cow.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A)1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

F=r 21 7oA fou e E ;v wfyEeA (Assertion (A)) F ¥ | fofgd 2 @ 550 39% FEW (Reasons (R))

;'?qui—:

A (A): A 2 F S FEE F W IR 91 T # Sl Fad O wE TeEee
=i Ui 2

F0 (R) : 77 Tafore go1 T FEAl 2 FE@0E 98 79 F 9E F 9 w2

IYRE FYA T AT 5, A= 50 0 fGEedt 3 O ged Iuge 3T 1 =A i

(1) (A) 3 (R) <Hi @ # 3 (R), (A) F wé =rEn 2

(2) (A) 371 (R) eI w2l 2, vk R), (A) F w1 sqre =48 2
(3) (A) &l 2, eifehd (R) Hal 741 2

(4) (A) @@ 47 2, “fed R) 68 2

1[Option ID=485]
2[Option ID=486]
3[Option ID=487]
4[Option ID=488]

Sl. No.73
QBID:1041048




Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A) :  Siddhasana is the best among all Asanas.

Reasons (R) : Because it gives prosperity and wealth to an aspirant for decades.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A)1s true but (R) 1s false

(4) (A) is false but (R) 1s true

H= @ #uA feu o B ;s HfWFHUR (Assertion (A)) & ®9 4 fafaa 2 @ Rkl 384 Y (Reasons

R) FEY Y ;

FfirRyq (A) fagre aft smel 9 549 B 2

F (R) : il J7 <uHl H H1gHi %l HYfg vd HEHA YEH HA T 2

IYIh hed o ATelies 4, e feu o fasedi 4 | gt 3w+ =99 Fifsn

(1) (A) 3 (R) 5HI & 2 310 (R), (A) Fi 5l =Hr& 2

(2) (A) 3 (R) €Fi B4 2, ddfed (R), (A) 6l ¥l =amem T8 2
(3) (A) ¥ 2, eifd (R) 35 2
(4) (A) G 2, oifhd (R) 99 2

1[Option ID=489]
2[Option ID=490]
3[Option ID=491]
4[Option ID=492]

Sl. No.74
QBID:1041049




Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R).
Assertion (A):  Simhasana 1s given utmost importance in Hathayoga.

Reasons (R) : Because it brings about significant physiological changes in GI system. But,

seldom 1t has any role in Nervous and Endocrine systems.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

4= 71 FUA U 0 F U ATeEe (Assertion (A)) % =9 ° Telfgd 2 a1 Taa 30+ T (Reasons (R))

#mﬁ:
AR (A) 724 © foEeE #i TE 95 T e 2
F (R) : T T7 F1. 272, TNt § Facaqy IR GhATea Tiad" =a] 2 =i a1 a1

ST Tl § 51— FE i w6l 2

IUE A F A B, A" 50 T e O ° HWEl 360 1 99 hiEy

(1) (A) 3 R) 2l = & 3 R), (A) 1 =& sren 2

(2) (A) 3l (R) <Hi 59 #, elfeid (R), (A) 1wl sare =4 2
(3) (A) ¥ 2, oif (R) 76 2

(4) (A) 39 2, difd (R) 7 2

1[Option ID=493]
2[Option ID=494]
3[Option ID=495]
4[Option ID=496]

Sl. No.75
QBID:1041050




Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  The practice of Makarasana and dhyana goes a longway in enhancing the

memory power of a person.

Reasons (R) : Memory power 1s a process of indication. storage and retreval of
information. Relaxing practices of Yoga bring about improvement in

enhancing memory power.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A)1s true but (R) 1s false

(4) (A)1s false but (R) 1s true

= EET h ﬁﬂ ma ? : Ueh faaReH (Assertion (A)) & &=y 4 fefigq % Gl [t FH& FHNU (Reasons

(R)) & 9 H :
B (A):  HHEA 3T SAH H AT Safh ) i $ Sgr d wEE 2
M (R) : TV 971k {E1 % HehoH, =99 3R GH:01H 6 ufsk 21 9 & faenfemEs

-9tk 9@ H HErgeh 2id 2

IUIIE 2 o Aol 4, fid fou o fasmedi 0 1 wd I %1 934 Fifae

(1) (A) 3 (R) 2HI & 2 310 (R), (A) Fi 781 =318 2

(2) (A) 311 (R) eF1 89 2, elfd (R), (A) =l 9&l =gre 981 2
(3) (A) ¥ 2, eifd (R) 35 2
(4) (A) #HEHF 2, oifd (R) 99 2

1[Option ID=497]
2[Option ID=498]
3[Option ID=499]
4[Option ID=500]

Sl. No.76
QBID:1041051




Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  In Yoga darshana Klishta and Aklishta vritties are of five kinds.

Reasons (R) : It 1s believed that Aklishta Vimttis are conducive and Klishta vrttis are

detrimental to yoga sadhana.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)

(3) (A)1s true but (R) 1s false

(4) (A)1s false but (R) 1s true

#1421 wud fev mu 2 ;. v 31f9eed (Assertion (A)) % =g 4 fafaa 2 4 g FHF HHY| (Reasons

(R)) & ®9 1 :
AHAA (A) - TrTesA | faee st Afwere giaat ui= ger i adl 2
%M (R) : A | | faere il sige s sifaere afhat qis o 18 2)

IR YA & Ao o, fid fqu mu fasedi § @ wdl I w1 = ifag

(1) (A) 3 (R) 2H1 99 2 310 (R), (A) FI @&l =are 2

(2) (A) 31 (R) eFi |9 2, dfF (R), (A) 1 981 =amem 72 2
(3) (A) ¥ 2, cifd (R) 35 2
(4) (A) 5 2, dfFd (R) 99 2

1[Option ID=501]
2[Option ID=502]
3[Option ID=503]
4[Option ID=504]

Sl. No.77
QBID:1041052




Arrange the following Upvikshepas of Chittas in the correct order
(A) Swash (breath)

(B) Angamejavatva

(C) Dukha (sufferings)

(D) Prashwasa (Exhalation)

(E) Daurmanasya (Sublimation/Suppression)

Choose the correct answer from the options given below :

(1) (B). (A). (C). (D). (E)
(2) (). (E). (B). (D). (A)
(3) (E). (C). (B). (A). (D)

(4) (). (E). (B). (A). (D)
T=fetlEa @ @ Ta  I9faaw #1 581 %9 H =Hafed Fis
(A) Tam

(B) =THeEA

(C) [RES

(D) EEEILE

(E) &g

= fou v famweai 9 9 991 3 1 =999 FirEe

(1) (B). (A). (C). (D). (E)
(2) (C). (E). (B). (D). (A)
(3) (E). (C). (B). (A). (D)

(4) (C). (E). (B). (A). (D)

1[Option ID=505]
2[Option ID=506]
3[Option ID=507]
4[Option ID=508]

Sl. No.78
QBID:1041053




Arrange the following stages in the proper order as per the Shrimad Bhagwat geeta?

(A) Vinash (destruction)
(B) Smritibhrama (confusion)
(C) Moodhabhava (sense of stupidity)

(D) Buddhinasha (loss of wisdom)

Choose the correct answer from the options given below :
(1) (C). (D). (B). (A)
(2) (C). (B). (D). (&4)
(3) (D). (C). (B). (A)
(4) (B). (D). (C). (A4)

offee Wragiial & H4EE sdifcifiga siaeasi &1 fad sy 0 srafem fif

(A)  faame
(B)  fayy
(C) Hewd
D)  dfer

A= feu o fesedi | | w8 I F1 ==4 Fifw

(1) (C). (D). (B). (A)
(2) (C). (B). D). (&)
(3) (D). (C). (B). (A)
(4) (B). (D). (C). (&)

1[Option ID=509]
2[Option ID=510]
3[Option ID=511]
4[Option ID=512]

Sl. No.79
QBID:1041054




(Given below are two statements :

Statement [ :  Yoga 1s not at all good for pregnant women.

Statement II . Scientific evidences suggest that a pregnant women can continue the
prescribed yoga practices till the beginming of 3™ trimester.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct

A=t €1 e fou e 2

#gd I:  mdadi # % fom gm w2 St wd g 21

&9 I1:  d9nfo medi 1 98 o & f6 v el = digfl faurdt % smy 9% fFEa gmmem 5=

gl 2

I U & 3ATelrs 4, i fou e fasedi 0 | g99 39gE I &1 =954 hifa

(1) @A I 3 II eHi |41 2
(2) =h¥4 IaﬁlII?f_H\"'{ﬂET-I%
(3) HYA [ 21 2, cifehd &2 I17TeTd 2

(4) &9 1A 2, eAfer &y I1 98 2

1[Option ID=513]
2[Option ID=514]
3[Option ID=515]
4[Option ID=516]

Sl. No.80
QBID:1041055




Given below are two statements :

Statement I :  One who does ‘Khechar1 Mudra’ 1s not troubled by any diseases.

Statement IT : At times, aspirants are troubled by death., sleep disorders, loss of

appetite and unconsciousness.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
fr= g1 e feu o 2 .
e[ 1: W=l qgr &1 e S & wiE S 92 w8 2l

HYA I1:  wfi-dl |aes 90, Fer-sfafiEan, ya 3 & ve @2nil 6 Wi 3 99 26 2

IR eH & e H, 99 fou o fasedi § | wed 39 I 1 994 it

(1) ¥ I 3 II e 5 2
(2) YA I 31 II e Terd &
(3) H [H& 2, cifeh & I Terd 2

(4) F2A 1774 2, eifeh a1 58 2

1[Option ID=517]
2[Option ID=518]
3[Option ID=519]
4[Option ID=520]

Sl. No.81
QBID:1041056




Given below are two statements :

Statement I :  Kapalbhati 18 a pranayama in which there is involvement of high
frequency breathing.
Statement II :  Kapalbhati gets rd of epilepsy and all neurological disorders.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) PBoth Statement I and Statement IT are correct
(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
4= 21 %ed feu o 2
FoH 1:  warAdita gz gmarg 2 frad 3= aianan &1 vararsgdard afge g 2

ed I1:  &urerHitd fpfi va adi @efia faeri 9 gfe feema 21

IV YA & el °, T4 fou e fasmedi @ | weH 39 I 95 i .

(1) =¥ I 31 I 59281 2
(2) ®yq I 31 I eH1 Teld &
(3) FY4 I HE1 2, vifhd & 174 2

(4) ®ud 17ed B, dfebd &u I Hd 2

1[Option ID=521]
2[Option ID=522]
3[Option ID=523]
4[Option ID=524]

Sl. No.82
QBID:1041057




Given below are two statements :

Statement I :  Coughs. Asthama. diseases of spleen and leprosy are destroved through

the practice of Dhauti.

Statement II :  Twenty kind of diseases caused by excess kapha mucous are destroved
by the effect of Dhauti.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II 1s true

1= 21 e feu e F
®oH I: @i, s, wiigl & fasr 3R %8 T didl 6l |JreEn g EEE 65 S 2

% I1: %% 6| dgerdl & SR gHarel §1 SR &l S &1 91 & g9 | 5919 G s 2|

IYTT YA & A 4, 9 feu o fawedi 4 | 9 39 w1 994 Hifaw .

(1) %A I 3 11§ w2
(2) &2 I 3R I EHl 36 8
(3) *¥H 149 2, oifehd H24 I 35 2
(4) Fu3 I 38 2, dfd so9 [[5 2

1[Option ID=525]
2[Option ID=526]
3[Option ID=527]
4[Option ID=528]

Sl. No.83
QBID:1041058

Given below are two statements :

Statement I : When prana moves In the middle passage (Sushumna) the mind

becomes still and steady.

Statement IT :  Steadiness, of the mind 1s called ‘Pratyahara’ according to Swatmarama.

In the hight of the above statements. choose the correct answer from the options given below :

(1)




Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I is false but Statement II 1s true

4= €1 wye fou o 2 .
Fod I: o« U gy d Haftd g 2 |4 94 fr vd w@qfed @ o 21

Hud I1:  =RUEHE & 3R 94 6l FRpd gemEr sEardl 21

Iwiieh YA 6 e H, e feu e faekedi 0 | wdl 3w 1w i
(1) %Y I 311 I eH1 | 2

(2) &2 I 3R I EHl 36 8

(3) *¥H 1499 2, oifehd F2A I 35 7

(4) HYA I FHA 2, Al &g [[FS 2

1[Option ID=529]
2[Option ID=530]
3[Option ID=531]
4[Option ID=532]

Sl. No.84
QBID:1041059

Sadhak tattvas, as described in Hathavoga Pradipika are
(A) Courage

(B) Enthusiasm

(C) Perseverance

(D) Talkativeness

(E) Unshakable faith

Choose the correct answer from the options given below :
(1) (A). (B). (C). (D) only
(2) (A). (B). (C). (E) only
(3) (A). (B). (D). (E) only
(4) (B). (C). (D). (E) only




FAM wdifues O afifd = a5 2

(A)
(B)
(C)
(D)

(E)

IcHIza
o
ardTetd]

4= feu mu foremeqi O 9 A I o =39 Fifaw

(1) ad (A), (B). (C). (D)

(2) &g (A), (B). (C). (E)

(3) = (A). (B). (D). (E)

(4) &dd (B). (C). (D). (E)

1[Option ID=533]
2[Option ID=534]
3[Option ID=535]
4[Option ID=536]

Sl. No.85

QBID:1041060

Badhak tattvas. as described in Hathavoga Pradipika are

(A)
(B)
(C)
(D)
(E)

Over eating
Perseverance
Exertion
Talkativeness

Unshalkable faith

Choose the correct answer from the options given below :

(1) (A). (C). (D) only
(2) (A). (B). (E) only

(3) (B). (C). (E) only

(4) (C). (D). (B) only




234 wéifue 1 afifq avge a2
(A)  #fd Grag w

(B) *wH =

(C)  wifers oar

(D) 4T

(E)  wifa=rer smreen

1= feu o fasmedi O 8 | I A = Hif
(1) %=e (A), (C). (D)
(2) & (A), (B). (E)
(3) @a (B). (O). (E)
(4) %4 (C), (D). (B)

1[Option ID=537]
2[Option ID=538]
3[Option ID=539]
4[Option ID=540]

Sl. No.86
QBID:1041061

Kleshas are described in Patanjal Yoga Darshan are
(A) Abhyvasa

(B) Avidya

(C) Anumana

(D) Asmita

(E) Abhinivesa

Choose the correct answer from the options given below :
(1) (B). (C). (E) only
(2) (B). (D). (E) only
(3) (A). (B). (C) only
(4) (A). (C). (D) only




qTdsseA 41 294 ° afifd Fe9 2

(A) I
(B)  #Afen
(C) HAHH
(D)
(E)  wifufrs

Hr= feu mu faspedi § 9 98 39 %1 994 FHifao

(1) %ae (B). (C). (E)
(2) ad (B). (D). (E)
(3) ad (A). (B). (C)
(4) &4 (A). (O). (D)

1[Option ID=541]
2[Option ID=542]
3[Option ID=543]
4[Option ID=544]

Sl. No.87
QBID:1041062

Which asana 1s prescribed for twisting in the spine?

(A) Vakrasana

(B) Sasankasana

(C) Halasana

(D) Ardhamatsyendrasana

(E) Matsyvasana

Choose the correct answer from the options given below :
(1) (A). (C). (E) only
(2) (A). (B). (C) only
(3) (A). (D) only

(4) (B). (C). (D) only




fafarfiga smaai 8 9 =9 8 31 2w i | gsan ol S 27
(A) g

(B)  9I91IRTHA

(C) &

(D)  HEIGE=EA

(E)  He=rEA

i feu o fgeedi § 8§ |58 39 %1 =934 Fifo

(1) *dd (A). (C). (E)
(2) %de (A), (B). (O)
(3) <hdd (A), (D)

(4) %= (B). (C). (D)

1[Option ID=545]
2[Option ID=546]
3[Option ID=547]
4[Option ID=548]

Sl. No.88
QBID:1041063

As per Yoga sutra. the methods of the attainment of Siddhi are
(A) Praytnashaithilya

(B) Dharana

(C) Pranavam

(D) Anantzamapatti

(E) None of these

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (D) only
(3) (A) and (D) only

(4) (E) only




A g3 % AN reA fafg wife 6 fafemi @n 27

(A) T

(B) =R
(C) Wy
(D)  SA=aEHTafd

(B) ¥ | 1 7

Jr feu o faewmei 4 4 g I &1 999 Hifau

(1) HFd (A) 31 (B)
(2) *ae (B) 3 (D)
(3) 4l (A) 31 (D)
(4) Fde (E)

1[Option ID=549]
2[Option ID=550]
3[Option ID=551]
4[Option ID=552]

Sl. No.89
QBID:1041064

Which of the following Chitta Bhoomis are considered to be meant for worldly people (people
operating in the mundane world)

(A) Kshipta (Displeased)

(B) Ekagra (concentrated)

(C) Moodha (stupid)

(D) Viskshipta (Insane)

(E) Niruddha (Restricted)

Choose the correct answer from the options given below :
(1) (A). (B). (D) only
(2) (B). (D). (E) only
(3) (A). (B). (C) only
(4) (A4).(C). (D) only




=3

i r'-."-r ﬁﬁﬁq_ﬁqﬁf r-J'..-. £ J_p'q;"{%rrﬂ'_ r\_'l_lf_l'_%:

(A fam

(B) vHm

C 9z

(D) Tatam

(BE) s

49 5 7o fawei 6§ 99 I # =99e Aien

(1) ad (A), (B). (D)
(2) e (B). (D). (E)
(3) dd (A), (B). (C)
(4) e (A). (C). (D)

1[Option ID=553]
2[Option ID=554]
3[Option ID=555]
4[Option ID=556]

Sl. No.90
QBID:1041065

Which categories of food according to Shrimad Bhagawad Gita give pain, distress and cause

diseases for the body
(A) Bitter

(B)  Acid

(C) Sweet

(D) Salty

(E) Pungent

Choose the most appropriate answer from the options given below :
(1) (A). (B). (C), (D) only
(2) (A). (B). (D). (E) only
(3) (B). (C). (D). (E) only
(4) (C). (D). (E). (A) only




(A) |GEG!
(B) w=iEA
(C) Ha=
(D)  FHFE
(E) =2

Fr= fou e fawei 9 9 g IUgE I H 99 i

(1) 4@ (A), (B). (C). (D)
(2) *9e (A). (B). (D). (E)
(3) Fae (B). (O). (D). (E)
(4) &dd (C), (D). (E). (A)

1[Option ID=557]
2[Option ID=558]
3[Option ID=559]
4[Option ID=560]

Sl. No.91
QBID:1041066

Which of these are four practices of Net1?

(A) Jala

(B) Vastra
(C) Sutra
(D) Dugdha
(E) Ghrita

Choose the most appropriate answer from the options given below :
(1) (A). (B). (C), (D) only
(2) (A).(C). (D). (E) only
(3) (B). (C). (D). (E) only
(4) (C). (D). (E). (A) only




& ¥ & H Afd o =7 W A

(A)
(B) =4
(C) 44
(D) g
(E) 4

1 fou o fasredi O | W8 I9YE I F 994 hifAe

(1) %del (A). B). (C). (D)
(2) %de (A), (C). (D), (E)
(3) ad (B), (C). (D). (E)
(4) e (C), (D). (E). (A)

1[Option ID=561]
2[Option ID=562]
3[Option ID=563]
4[Option ID=564]

Sl. No.92
QBID:1041067

Which of these constitute to form ‘Sukshma Sareera™

(A) Annamava Kosha
(B) Pranamava Kosha
(C) Manomaya Kosha
(D)  Vijvnanamayva Kosh

(E) Anandamayva Kosha

Choose the most appropriate answer from the options given below :
(1) (A). (B). (C) only
(2) (B). (C). (D) only
(3) (C). (D). (E) only
(4) (D). (E). (A) only




HeH Y I A 390 4 b i ge A 27

(A)  IF=9E FIY
(B)  WIVHE &9
(C)  wHME &
(D)  Tasrma =

(E)  31Hewd &

i fau e faspedi § & wald I I H1 I Hifa

(1) %ae (A), (B). (C)
(2) *94 (B). (C). (D)
(3) dd (C), (D). (E)
(4) Fae (D), (E). (A)

1[Option ID=565]
2[Option ID=566]
3[Option ID=567]
4[Option ID=568]

Sl. No.93
QBID:1041068

Which of the following are not the Bahirangayoga practices?

(A) Asana
(B) Mudra
(C) Bandha

(D) Pranavama

(E) Kriyva

Choose the most appropriate answer from the options given below :
(1) (A). (B). (C) only
(2) (B). (C). (E) only
(3) (C). (D), (E) only
(4) (&), (C), (D) only




freferfia o & =t & affon a6 27

(A) A
(B) Hal

(C) @Y

(D)  WTTTETH
(E) e

= fou mu fashedi § 9 9&H I9H I H1 954 il

(1) F4 (A). B). (C)
(2) *dd (B). (C). (E)
(3) %Fad (C). (D). (E)
(4) e (A). (C). (D)

1[Option ID=569]
2[Option ID=570]
3[Option ID=571]
4[Option ID=572]

Sl. No.94
QBID:1041069

Match List I with List IT :

List I List IT
(A) Gyvan Yoga (I} Devotion
(B) Bhakti Yoga (IT) Psychic control
(C) Raja Yoga (ITII) Wisdom
(D) Karma Yoga (IV) Desireless Action

Choose the correct answer from the options given below :
(1) (A)-(ID). (B)-(III). (C)-(IV). (D)-(I)
(2) (A)-I). (B)-IV), (C)-(D,. (D)-(IIL)
(3) (A)-aV), (B)-(II). (C)-(III). (D)-(I)
(4) (A)-IID. (B)-(I). (C)-(II). (D)-(IV)




=11 % = g=i-11 1 foem Hif

g1-1 gH1-11
(A)  FTH = @O =9
(B) ufh Z (ID) = o
(C) 4 Fm (IIT) 9=
(D) 4 T (IV) fasamm =

4= feu o fgaedi O 9 98 3w o1 =994 Hifsu .

(1) (A)-ID. (B)-(II). (C)-(IV). (D)-(I)
(2) (A)-D). (B)-IV). (O)-ID. (D)-(ILL)
(3) (A)-(IV). (B)-(ID). (C)-(I1D). (D)-(I)
(4) (A)-(IID). (B)-(I). (C)-(II). (D)-(IV)

1[Option ID=573]
2[Option ID=574]
3[Option ID=575]
4[Option ID=576]

Sl. No.95
QBID:1041070

Match TList I with Tast IT :

List I List IT
(A) Ahimsa (I) Antaraya
(B) Saucha (II) Niyama
(C) Vrntta (IIT)y Yama
(D) Vyadhi (IV) Vikalpa

Choose the correct answer from the options given below :

(1) (A)-ID. (B)-(IV). (C)-(IID). (D)-(D
(2) (A)-(I). (B)-(1II). (C)-(ID). (D)-(IV)
(3) (A)-(IID). (B)-(II). (C)-(IV). (D)-(I)
(4) (A)-(IV), (B)-(ID). (C)-(I1I), (D)-(D)




HA-1 < w2 g=-11 %1 faer shifw

gefi-1 g1
&) e (D =<
(B) st 1D f4am
© g (ITT) 9
(D) =iy IV) faweq

Hr feu o fosmedi d | wEl I & =299 Fifao .

(1) (A)-D). (B)-(IV). (O)-(IID). (D)-(T)
(2) (A)-(I). (B)-(1II). (C)-(ID). (D)-(IV)
(3) (A)-(IID). (B)-(II). (C)-(IV). (D)-(I)
(4) (A)-(IV), (B)-(ID). (C)-(I1I), (D)-(D)

1[Option ID=577]
2[Option ID=578]
3[Option ID=579]
4[Option ID=580]

Sl. No.96
QBID:1041071

Matech Tist I with Tast IT :

Last I Last II
(A) Asana (I Klesha
(B) Dhyana (I) Samyama

(C) Dharana, Dhyana and (III) Bahiranga voga
Samadhi constitution

(D) Awidya (IV) Antaranga Yoga

Choose the correct answer from the options given below :
(1) (A)-I). (B)-(IV), (O)-(III). (D)-(II)
(2) (A)-(III). (B)-(IV). (C)-(II). (D)-(D)
(3) (A)-(IV), (B)-(I1I). (C)-(IL), (D)-(I)
(4) (A)-II). (B)-(I). (C)-(ID). (D)-(IV)




He1-1 s | g=fi-I1 &1 faerm Fifao

g1 HHI-TI
(A) A @
(B) ©H Il #¥™
(C) oW, e4F 377 |uify veh @iy (10D &feam Jm
(D) saferen (IV) 3Ta =

Fra feu mu famedi O | | I w1 =gm Fif

(1) (A)-0). (B)-IV), (C)-III), (D)-(ID)
(2) (A)-IID). (B)-(IV). (O)-I). (D)-(I)
(3) (A)-IV). (B)-(III). (C)-II). (D)-(D
(4) (A)-(IID). (B)-(I). (C)-(ID). (D)-(IV)

1[Option ID=581]
2[Option ID=582]
3[Option ID=583]
4[Option ID=584]

Sl. No.97
QBID:1041072

Match List I with Last IT :
ListI List IT
(A) Pungent Food () Mitahara
(B) Agreeable and Sweet Food (II) Ahita Bhojan
(C) Barley, Milk, Brown sugar (IIT) Pathya
(D) Excessively acidic (IV) Apathya

Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-). (C)-(I1D). (D)-(ID)
(2) (A)-(ID. (B)-(III). (C)-(D). (D)-(IV)
(3) (A)-(I). (B)-(IV). (C)-(IIL), (D)-(1L)
(4) (A)-(IV). (B)-(ID). (C)-(ID). (D)-(D




TeAI-1 % =g g1 = foem Fifem

-1 F=-11

(A) E AER (I) T™aEEr

(B) wema 3 Hia1 sEr (1) oif=a 9

(C) =, g, 51H R (III) 9=
(D) “eAlTF =g (IV) 3%
4= fou U faedi |5 ° "Rl 3T 0 59 A

(1) (A)-IV). (B)-(I). (C)-(IID), (D)-(II)
(2) (A)-(ID. (B)-(IID). (C)-(D). (D)-(IV)
(3) (A)-(I). B)-IV). (C)-IID). (D)-(II)
(4) (A)-IV). (B)-(II). (C)-(II). (D)-(I)

1[Option ID=585]
2[Option ID=586]
3[Option ID=587]
4[Option ID=588]

Sl. No.98
QBID:1041073

Match TLast I with Tast IT :

LastI Last IT
(A) EKarma Yoga () Chapter XV
(B) Purushottam Yoga (I) Chapter XII
(C) Shraddhatraya Vibhag yoga (III) Chapter XVII
(D) Bhakti Yoga (IV) Chapter III

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IID). (C)-(IV), (D)D)
(2) (A)-(IV). (B)-(1). (C)-(ID), (D)-(IIL)
(3) (A)-(III). (B)-(ID). (C)-(IV). (D)-(I)
(4) (A)-IV). (B)-(I). (C)-(I1IL), (D)-(1D)




geit-1 % w12 g=-10 &1 faers i

-1 H=i-11
(A)  FHHA (I HA™ 15
(B) ENEGEM (ID)  31eard 12
(C)  Fgrafaar Im (II) HeAqr™ 17
(D) wfer = @IV) =T 03

H1e feu mu fasedi O | B I & ="9 Fifao

(1) (A)-(I), (B)-(III). (C)-(IV). (D)-(II)
(2) (A)-AV). (B)-(I). (C)-(II). (D)-(I1I)
(3) (A)-(IID. (B)-(ID). (C)-(IV). (D)-(I)
(4) (A)-IV). (B)-(D. (O)-(IID). (D)-1I)

1[Option ID=589]
2[Option ID=590]
3[Option ID=591]
4[Option ID=592]

Sl. No.99
QBID:1041074

Match List I with Tast IT:

List I List IT
(4) Karuna (Compassion) (Il Sukhi (Happy)
(B) Maitn (Friendship) (IIy Dukhi (Unhappy)
(C) TUpexsha (Neglect) (III) Paapi (Sinner)

(D) Mudita (Magnanimity) (IV) Punyatma (Virtuous soul)

Choose the correct answer from the options given below :

(1) (A)-(ID. (B)-(D). (C)-(I1I). (D)-(IV)
(2) (A)-(D). (B)-(ID. (C)-(IV). (D)-(II)
(3) (A)-V), (B)-(III). (C)-aD). (D)-(I)
(4) (A)-ID). B)-(ID). (C)-(ID). (D)-(IV)




T1-1 9 1" gei-11 F1 5 i

-1 -1
(A) FE Iy ==t
B) = (I 7
(C) =ua (IIT) T
(D) gfea (IV) qo=mes
= fou o fa@edi 8 O OE I 1 =99 Hie

(1) (A)-(ID). (B)-(D. (C)-(I1I). (D)-(IV)
(2) (A)-(I). (B)-(ID). (C)-(IV). (D)-(IL)
(3) (A)-IV), (B)-(III). (C)-aD). (D)-()
(4) (A)-I). B)-(ID). (C)-(I1D). (D)-(IV)

1[Option ID=593]
2[Option ID=594]
3[Option ID=595]
4[Option ID=596]

Sl. No.100
QBID:1041075

Match List I with List IT :

List I List IT
(A) Yogo bhavati Dukhaha M 2/60
(B) Yoga proktah puratanah (I) 4/3

(C) Dukha-samyog-vivogam yoga- sanjivatam (IIT) 6/17
(D) Yogah Karmasu kaushalam (IV) 6/23

Choose the correct answer from the options given below :

(1) (A)-IV). (B)-(D. (C)-(IID), (D)-(1I)
(2) (A)-(I). (B)-(ID). (C)-(I1I). (D)-(IV)
(3) (A)-(IID). (B)-(II). (C)-(IV). (D)-(I)
(4) (A)-I). (B)-(III). (C)-(D). (D)-(IV)




Hefl-T e |1 H=1-I0 %1 foer Fifs

(A)
(B)
(C)
(D)

HqH1-1
AR UTeh: QLA

ANT: HUY HIITery

HHI-1T
@  2/50
an 4/3
A1) 6/17

av) 6/23

4 feu o faemedi 4§ |1 39 &1 =934 Fifau .

(1) (A)-IV). (B)-(I). (C)-(ID), (D)-(II)
(2) (A)-(I). (B)-(ID). (C)-(III). (D)-(IV)
(3) (A)-IID). (B)-(II). (C)-(IV). (D)-(T)
(4) (AID. (B)-(IID). (C)-(D). (D)-(IV)

1[Option ID=597]
2[Option ID=598]
3[Option ID=599]
4[Option ID=600]




